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TRH o FEtHE oAl SaM1Z 5(&8) Bl 40,000 50,000
oL oH FEtHE oA SsM1ZE 11(E8) Bl 40,000 50,000
ME QI El D | MEYE OffAl 2B 235-11(ABE) | 23E 50,000 60,000
£ oH FEHHE oA A3 35(8s) Bl 50,000 60,000
SHR 2 | MEtEE oAl AIHS2Z 16(33) &5 50,000 80,000
WA H 24 Hete = of=A| A|™32 35-6(8t) BIES 50,000 60,000
ROl o HEtHE Ol=A| A3 35-6(35) Bl 50,000 60,000
S O} oH HEtdE oAl A|IHS3Z 13(83) Bl 45,000 55,000
oHSHE o Hetd= oAl AIMS3E 12-15(8Ha) BIES 45,000 50,000
Mo oH HEtHE oAl AIgs22 22-1(8Hs) Bl 45,000 80,000
oMH 2E | HaldE OA| AT Z 231(23E) ATE 50,000 60,000
Mg oH FEtHE oAl SsM1ZE 13(28) Bl 40,000 45,000
YREsH 24 Metd e oAl A8 &2 33(&s) BIES 50,000 60,000
= E 24 HEtHE oAl A8 S22 36(25) ElES 40,000 40,000
AR 24 Metets of=A| A|H3Z 35-14(35) EIES 50,000 70,000
LIEAE S o HEtE e oAl A|lHM6Z 3 (H5) Bl 80,000 110,000
HiLZ|Ot2 |0l | ™ | HEtHE oAl AIEM6E 19 (&5) &3 97,000 117,000
Of=Qo|E=H 2 | MEtEE oAl AIES3ZE 30-7 (BS) EIES 50,000 60,000
Of = 3f{H| X| = & =Y | MetdE oAl Al M6 5 (&) 1R 50,000 60,000
oAz =Y | HEtde oAl AIEM6ZE 11 (BH5) EIES 60,000 80,000
AMORT & =H HEtH T oAl A8 M6Z 23 (&) Els 70,000/ 120,000
Op2iH|o| =& =Y | MetdE oAl AIEM6Z 15 (BH8) RS 60,000 100,000
Mol ADH o Hetee oAl AIEM6Z 15 (3H3) stE 60,000 70,000
HEtX|ptd o | o Hetg oj=A| A|IEM6Z 13(2S) Bl 60,000 70,000
H|QHH|X| 2t2t = & =L Hetetz of A AlHAM6Z 25(8Hs) Bl 77,000 120,000
SHtheZ 24 o Hetg oA A|E S 32 30-5(88) Bl 50,000 60,000
MK= & oH HEtEE O=AIAHAM5E 16(35) Bl 50,000 70,000
A AE| oH Metetz oj=A| A|HE 32 30-2(3S) Bl 50,000 60,000




o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o
g|s|a|sl8|lg|g|a|a|s|ls|le|s|s|a|s|g|la|s|8|&|a|a|s8|s8|s|s8|s|8]|8|8|8]|S
B|a|R|8|3|3|8|F|R|8|F|R|8|8|A|R|S|8|g|F|F|8|c|8|q|=2|2|=|g|1|1]]|4|=S
o o o o o o o o o o o o o o o o o o o o o o
slg|slg|g|s|se|le|g|als|g|slg|g|s|ls|g|E|e|g|s|e|8|E8|E|E|E|E|8|&|E8|¢S
212|233 |a|3|2|9|R|8|8|2|2|2|1|3|3|g|g|m|2|8|g|lglglglg|lglglg|uvle
— — <~ N < < <t N < < <t Y <
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
to | wo | uo | o | O | U0 | oy Lo | o Lo Lo ) b0y Lo | o ) Lo ) Lo ) Lo ) b0 L0 o o | uo [ o | wo [ uo | uo | wo | uo | o | uo | uo |
oy "y "y "y oF | oF | OoF | OoF | OF | Ko | Ko | Ko | Ko | Ko | Ko KO | KO0 | KO | KO | = iy iy iy iy iy oy oy oy oy oy oy oy oy
oor | o | Jof | joI Ko | ko | o | %o [fo |or |or | o | or | o | or | <F | <F <F or | Jof | Jof | %o | Jof | of | %o | Jof | Jof | fof | %o | fof | %o | oF
~| | =1 =~ ~| = < R — m
m . _ _ | | o | o | o |t | o || i W | % {0 _ | ue
e A Y L P P o P L P S o e e T I I o o o T O P o o W | €
S | [0 | o | to|o- |t fto| | to| Ko |Uol|to|ko |y |R RO Eldl2l2|g|2|ls || |S| ~|S|~|T|3 ]|~
olE e | |ok |t |o- oz M|m|tlt|lo|F|t|E|I|S|aln|w|w|w|E|w|lR[S|R]S] |
Bleg|lg|g(|S|t(R|FT|r|g|(r|r|s|5|o5|F|ec]|s|n|(a|le|/N|[|s|o|B|T|[T[T]e|m|d
Wlglmla| 52522 2lB8|81% | xmluls o B ol e o O o T =T I Il [ B e
o |2 N | || ~ " I T T R I I N GO A O ) R I
W | = [ = o | W v [« = | W |0 M [N MlH H [ H ||| =W 5[N] W
| (W o [ o [ | oF 2 [#0 |2 |2 |8 |2 |uo|uho IR A A A A A R AR R A
e N N IO O S I A S [l [ (o R gl B il N O O O O A O IO IO T B T
S ol T T N I G I B s B A A A A AN AT AN NN R AT Il B B I I I )
< |l zlzzlz==[X|[X|[X[X[|X|X|X]|X]|X <[ X [X[X XXX X|XIXIXIX |zl =I|=
< | X[ = <[ XX |X|IX|X[=
< | <R | <F S o IR i RS T O N S Y G % S o IR o Y i U I IR S IR( S I ¢ S INEY T I I L <F [ <R | <F | <F | <F | <F
Tlg|ls|s|B|B|B|B|B|B|B|5 |5 ¥ s |5|s|ls|5 |85 |85 |88 |8 |x|lslslslsls|s
oL TV T TV I L s O L O B A I H|lWH[H[WH|WH|H|H|[WH]H]YH|[WH]UWH
i T T T et L e A Lt O I O A I T It et O I L L L L L L i O O T R T T R T U T
A A e e e o o ol A ) R R LR (L
i) i) i) [yil] [yil] [yil] [yil] [yil] [yil] [yil]
R e T R R R B B2 B A A e o ol 22| = dlol|lol|lola ||z
o o o o o o o o o ol ol W._ ol ol ol ol ol o o o o o o o o o ol ol ol ol ol ol ol
H|H|[H|H | H|H[H|H | H O[] ][O |[H]H|OH|[H|H|HAH[H]HHAH[H A H[H|H ]| H|H|H
il - | F |- _ _ =3
— = X Fr L} Fr L} Fr L} = ol — = —
Gl - - I _ | Wo u u - u oo w - | - - - = o |l - - -
u [T @ | B 3 e a o | = << aE | o u__g oofan | B | & | | [T E T g g | -y | T Eu |
30 [ = | o |5 | @ ny R o — | o0 T H | @
I B O I I Il O s O = [ o e A I 0 I T = O = I e O - = I O A
O IC el - o < T e Ol I - - T O I I - LU - e i O N O S =2 A I = UL R .
Slm|alg | | g BB ElTm|T|W oW ||| S R I B Il I H|R | T
| al e T 5|5 Au | T | b N o | !
il ol 1of
[e)] o — [oV] o <t LN O N~ [ee] (@)} o — [oV] ™ <t n O N~ [e0] o o — [oV] o <t (¥} O N~ o] ()] o —
eV ™ o™ ™ o™ o™ o™ o™ 45} o o < < < < < < < < < < N N N n LN N LN Vo] N N O (e




62 tER™ Metgde oAl HEHSA1E 24(8s) H H

63 6&9 T FEHHE oA d4t32 21-10(2HE &) LIPS 50,000 60,000
64 FLtzE Hete s ofA| GA3d 21-6(2HES) Y= 50,000 60,000
65 AMAmE Hete s ofA| GA3d 2133 S) Y= 40,000 50,000
66 2[H 5t A Hete s oAl GA3d 24-7(31E S) Y= 35,000 35,000
67 =y Metgde oAl gA3Z 24(3H3) oEs 50,000 60,000
68 orz| g Metd e ofsAl MA3Z 21-4(3HES) oEs 50,000 60,000
69 H|O| QI Ed Metd e of Al MAt3Z 24-8(3HE ) s 50,000 60,000
70 OHEFOE Hete s ofA| gA3d 21-5@HES) Y= 50,000 60,000
71 Ol A El HEtHE OjF=A| 2462 43-4(M¥S) MAS 50,000 60,000
72 7t E HEtHE oAl 2462 42-4(M @ S) MAS 40,000 50,000
73 ME2RH HEtHE OjF=A| 2462 42-3(M¥S) MAS 50,000 50,000
74 B Metgde oAl gihZ 8-4(3HE ) s 45,000 50,000
75 CiCpR ol HMetd e ofpAl A2 21170 E) | s 50,000 60,000
76 YAEQIZH HEte e oA G432 21-11EESE) | s 60,000 80,000
77 O KRN H HMetd e ofpAl A2 21-15(0H 8 E) | s 60,000 80,000
78 RPN Byl etz oA 222 69(EFTS) | 55 40,000 55,000
79 ALtz z Mt e o$A| 242106, 63,75(E4S) =TS 70,000 80,000

80 TANEDH MEPH T Of4Al IA12 95-9(0I M) CPNES 40,000 50,000
81 LHHH| =LA (=) HEtHE O 242 58(2+3) 2TS 70,000 90,000
82 I o= H Hote s oAl 212 39-14(0M-S) gME 40,000 50,000
83 SHO| Rl & HMetd e oAl 2222 84(BF3) 2TS 50,000 60,000
84 3| AEIDH Hote s oAl 212 43-17(0MS) gME 40,000 50,000
85 MIZE Hetd e oAl 225 76-1(B48) | 256 50,000 60,000
86 1HItS H HoteE oAl 212 43-21(0MS) gME 50,000 70,000
87 22 HMetdz oAl 212 43-13(0M58) | 245 50,000 60,000
88 IRESH O 2232 69(01N5) oMS 40,000 60,000
89 GRH O 212 43-7(0| M 5) HME 40,000 55,000
90 K2 & Metd e oAl 223 33(B+s) | 2T 50,000 60,000
91 250l HEtd e oAl OZ 2222 65(2F3) | 258 50,000 60,000
92 Azoa HEtEE Of=A| O|M1E 95-8(0{ M) HME 40,000 50,000
93 Kotz © Metd e oAl S4HE72 11-10(84H8) | 84s 60,000/ 120,000
94 StEL| 2™ Metd e oAl S4HE72 11-11(84H8) | 84s 40,000 60,000




95 Ol AR & 2HE (MetEE oAl SMETE 1120348 | SMS 50,000 70,000
96 ZEAZH e |MEtEE oAl SAEHEZE 11-18(84ts) | Sits 40,000 70,000
97 ag=g| DE (HEtEE oAl SAUEHSE 17(34S) NS 40,000 60,000
98 2HOMHIXLASH] SDH (MEHE oAl S44E8E 17-15(848)| S4s 77,000 110,000
99 Mo =2 & oH HMetde oAl SAE7Z 11-15(848) | SM4s 40,000 50,000
100 HFZH oH Metd oAl SAE7Z 11-24(848) | SM4E 40,000 50,000
101 2 DE (HEtEE oAl SAUEH6E 7(84HE) NS 40,000 50,000
102 OlFAzE oH FEtEE oAl SAET7ZE 8(84HE) NS 40,000 60,000
103 HeazH™ oH FEtd = oAl SAEHTZ 13(84H8) NS 50,000 70,000
104 oy oH HMetde oAl S48 11-16(848) | S4& 30,000 40,000
105 HESZEY DE (MEtHE oAl S4E6ZE 11-9(84S) SME 40,000 50,000
106 H| LA DE (MEtHE oAl S4E6ZE 17-7(834S) SME 50,000 70,000
107 ojej= & e |MEtEE oAl SAEHEZE 11-15(84ks) | Sits 35,000 40,000
108 ez-HM HE | HEHHE oAl SR E 78(F2HE) ks 50,000 80,000
109 Of g=H| X[ 4 HM  (HEHHE oAl SR E 64(52H3) 5o 90,000 150,000
110 Crot= & DHE (MEtEE oAl 3222 13(3%s) 33E 30,000 45,000
111 dHE T SE  (HEtEE oAl 33EH2Z 20(3%s) 33lE 40,000 60,000
112 = 0ot & =Y |HEHE oA RS LR 20(3%HS) 33tE 60,000 [ 120,000
113 MH=INNAZESIRAA~ESsteAMEtHE OfA| S2HH2Z 16-1(328) | 32AS 15,000 15,000
114 2o e (HEtHE oAl S3HE2E 8-1(82Hs) 39S 40,000 50,000
115 CHEAICESIRA | B (MEtHE oA 3922 15-1(32s) | 32& 40,000 50,000
116 S e (HEtd kR oAl 32HE22 15(385) 385 40,000 50,000
117 Zeod 28 |HEtHE oAl S2E2E 25-1(3%2s) | SESs 30,000 40,000
118 ZaADH 29 |HEtHE oA SE2E 87-1(3%Hs) 33tE 40,000 50,000
119 5 HE |HEHHE oAl S UFZ 9 =4S 60,000 120,000
120 S EE 2FHI BN  |HEtEE oAl S4Z ZEHBHOE 85 =) 60,000 80,000
121 SHX| 22z 2dHE]  HME |WMELHE A 4L TFSCHE 76 =S 50,000| 140,000
122 gl o (HEtHE oAl S5 AHBHCtE 93 =) 50,000 60,000
123 DS= & SE  (MEtEE oAl EMS ZEHE 42 =S 50,000 60,000
124 HrC oA HM  |MetdE oAl S4S TFsetd 9 =4S 89,000 139,000
125 LR M HM  (MEHHE oAl E4S Z'E4Z 53 =S 40,000 80,000
126 HAEMHN HM HEtHE oAl f=A2I2 2(52Hs) B3ts 80,000/ 120,000
127 XM HM HEtHE oAl f=A2IZ2 1(B2HS) 5ot 96,000 150,000
128 o= ot 153 HM HEtHE Off=A| O] ABHE 202 35(535) =3 = 90,000 125,000




129 CtO|Ot = & el (HEtEE oAl WESH1Z 6-3(1S) ns 40,000 50,000
130 27H0[2 & oH FEtd = oA REFEH1Z 5-5(13) ns 50,000 80,000
131 LY 740 23 M HM  |HEtEE OlA| SEE 66(3%s) B3t 95,000 139,000
132 ofZEn™ oH Mete e oAl 81 6-1(28) ns 40,000 50,000
133 DEE| oH Hetetz oA RsE1Z 6-12(15) ns 40,000 80,000
134  |HEHAAESRA| Axrestex [ MEtHE A Ol MBTEE 191(53%S) | S 15,000 18,000
135 S® THE L SH | d2tdE oAl ol BE R 135(3HE) | BES 95,000 140,000
136 LAAESIRA | Aassiea | MEHE OA| S22 2-2(3YS EReks 25,000 25,000
137 S OHEHICHE A HM  |HEtHE oA Ol E 159 (BYE) | 5YS 108,000 195,000
138 |HIOHO2HAESGRAALESRA(MELHE OlA| SEE 18(1AE et 20,000 22,000
139 FERH DE (HEIHE oAl SUYE 72-21(53Y3) ERek 40,000 80,000
140 o#str|E2E |Azrestea|MEtHE Al IS H1E 5-43) mE= 15,000 20,000
141 ERelgg= 2 |TEtHE oA Q4 52(REUST) YUs 50,000 50,000
142 Fde|ng ZE (MEtHE oAl R4 53(2ES) 2EE 50,000 65,000
143 FHto| 2 & e Mt E oAl R4 55U T) S 50,000 60,000
144 =t El 28 |HEtHE oAl RE4ZE 54(ES) RS 40,000 50,000
145 ANELIRE e | HEtdE oA 234 5923 E) S 50,000 65,000
146 o[t AT ZE | HEfdk oAl B4 61(LET) LUE 60,000 70,000
147 ItE| 2 & 2 | MEtYE oAl 222 12-6(REE) 2EE 40,000 50,000
148 2HH| o= g HEtHE Ol5A| 2822 12-42E85) RS 60,000 70,000
149 o+=FOold e |MEtEE oAl 22 12(2ES) S 40,000 50,000
150 g DE (HEtHE oAl RE4ZE 48(ET) RS 40,000 50,000
151 EfAand g FEtHE oAl EH32 121(z495) =4S 40,000 50,000
152 CazH g FEtHE oAl EH32 141249 S5) =HS 40,000 50,000
153 Bl X o g FEtHE oAl 2532 6-1(283) =4S 40,000 50,000
154 2P EZH o FEtHE oAl EH32Z 6-21(285) =45 35,000 40,000




